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* Write the conclusions for the following confidence m'rervc:ls St QO . 125 ame32. -

"Fred measured the lengths of 23 ’rroplccl flowers and
with a 95% confidence level, he calculated a

We chgnil'gl S o "gir,*v%[\f,,f \_2\5_’ %f,lt?ﬁgl% 'rl‘:chesa$ ocid in

asQITIN 1S 25,6232 5 910
*A chemist measured the amount of acetylsalicylic acid
in tablets of aspirin and, using a 99% confidence level,
calculated a confidence interval of 325.62312.216
cc’s

Discuss test results

Intro to Inference with means...



CATAPULT LAB

Creating the confidence interval
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GOSSET'S 7

William S. Gosset, an employee of the
Guinness Brewery in Dublin, Ireland,
worked long and hard to find out what the
sampling model was.



GOSSET'S 7
The sampling model that Gosset found has

been known as Student’s f.
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The Student’s t-models form a whole family
of related distributions that dona
parameter known as degrees of freedo

* We often denote degrees of freedom as df,
and the model as t .
-\
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A CONFIDENCE INTERVAL FOR MEANS?

Normal 7~ t-model with 2 degrees of freedom
the degrees of freedom ormal £ N g
increase, the +-models look more \ ! \
and more like the Normal. 7
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In fact, the +-model with infinite !
degrees of freedom is exactly
Normal.
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A QUICK EXPERIMENT

Compare z-distribution to t-distribution
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